
2 4 3

7
Original

8
6

1

Original screw

2
43

MOUNTING INSTRUCTIONS 

31 2

Ref.: 7048
REAR MUDGUARD ADAPTABLE TO 

YAMAHA MT-07 14’  /  YAMAHA XSR 700 16’

Original screw

 ONLY FOR MT07 

2 4 3
2 4 3

9
10

1 Iron 1

2 M6x15 DIN 1001 screw 4

3 Well nuts 4

4 Metal arrowhead 4

5 M6 nut 1

M5x25 DIN 1001 screw6 1

M5 DIN125A Washer7 1

Support for expansion vessel8 1

M6 DIN6923 nut10 1

Support for rear mudguard 9 1

DESCRIPTION QTY.   ID.

When it comes to quality motorcycle frame and body, Puig is the brand you can depend on.

https://www.motorcycleid.com/frame-body.html
https://www.motorcycleid.com/Puig/

